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Economy Part

1. Explain intra -generational and Inter -generational issues of equity from the prospective
of inclusive growth and sustainable development. (Answer in 150 words) 10 Marks.

Intra-generational is easy and often discussed

Talk of various exclusions like Social, Economic, Regional, Financial, Digital,
Environmental.

Inter-generational requires slight innovation on the spot: Can also use the ideas of FRBM
as well as SDGs

Discussed throughout the content (PcM, Mains Crash Caurse, Youtube Economy
Mentorship videos, Mains Tests)

Mains Crash Course 2020:

17. Inclusive Growth has been an agenda ever since India achieved Independence. It continues
to be an ever-elusive one. Do you agree? Discuss.

18. While explaining the concept of Financial Inclusion, discuss why is it necessary for a
developing country like India? Also, highlight how the concept of financial inclusion is fast

becoming Digital Financial Inclusion.
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2. Define potential GDP and explain its determinants. What are the factors that have been
inhibiting India from realizing its potential GDP? (Answer in 150 words) 10 Marks.

Potential GDP might seemdaunti ng but 1 td&s not
Like a lot of other topics, we prepare for it during Prelims.

(Premix 7th May, 2020, Q5 is entirely about it)
RS ek

The output gap is an economic measure of the difference between the actual output of an economy
and its potential output.

Potential output is the maximum amount of goods and services an economy can turn out when it
is most efficient—that is, at full capacity.

Often, potential output is referred to as the production capacity of the economy.

Just as GDP can rise or fall, the output gap can go in two directions: positive and negative. Neither
is ideal.

A positive output gap occurs when actual output is more than full-capacity output.

This happens when demand is very high and, to meet that demand, factories and workers operate
far above their most efficient capacity.

A negative output gap occurs when actual output is less than what an economy could produce at
full capacity.

A negative gap means that there is spare capacity, or slack, in the economy due to weak demand.

An output gap suggests that an economy is running at an inefficient rate—either overworking or
underworking its resources.

Talk about what is Potential GDP, the use of output gap as an idea in policy making, what
all ails the Indian GDP (thousands of points here).

Dondt for getheado add way
Discussed in PcM, Youtube 15-Din Mains -In, MAD, Mains Tests.
Mains -2020 Crash Cours:

What is growth recession & why should the government worry

about it? (15 marks)

Youtube:

https://youtu.be/W6acELL20PI?list=PLYSuG -KZy7JB54b7JZaylSOqF4COcYwkc

—_—

Q. Discuss the various impediments that ogr GDP is’ witnessing in its path of the
e p—
growth.

—

https://youtu.be/e8mvNax5iTs?list=PLYSuG -KZy7JB54b7JZaylSOgF4COcYwkc
While discussing how India can become a $5 Trillion Economy by 2024-25,

also discuss the associated concerns.
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3. What are the main constraints in transport and marketing of agriculture produced in
India? (Answer in 150 words) 10 Marks.

Slightly on the predictable lines and awaited for so long.

Harvesting
Labour intensive

Marketing
Absence of
Roads

Refrigerated vans
Warehouses
APMC
Cold storages
Middlemen (long supply chain)
Silos
Market info doesn’t reach

Dondt forget to write way ahead.

Marketing
e-NAM

Model APMC
States brining Fruits out of APMC

FMC merged with SEBI
DD Kisan Channel
Kisan Call center

Co-op Societies

Discussed in PcM, Youtube Economy for Mains Questions, Economy Mentorship
Lectures, MAD, Mains Crash Course, Mains Tests.
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4. What are the challenges and opportunities of food processing sector in country? How
can income of the farmers be substantially increased by encouraging food processing?
(Answer in 150 words) 10 Marks.

Cand be more draight forward.

Discussed in PcM, Youtube Economy for Mains Questions, Economy Mentorship
Lectures, MAD, Mains Crash Course, Mains Tests.

Mains -2020FLT-7:

16) Discuss the status of E@6@ Processing Sector in India? Also critically discuss the role of PM
Formalization of Micro Food Processing Enterprises (PM FME) scheme in this regard.

(15 Marks, 250 words)

Economy Mentorship Videos o Lecture 7:

Food Processing in India
WHAT IS FOOD PROCESSING? e /
» Food Processing refers to various techniques and operations by which raw foodstuffs are
transformed into food that are suitable for consumption, cooking, or storage-

» Processes like the basic preparation of foods, the alteration of a food product into another form
(as in making prese from fruit), and preservation and packaging techniques.

WHAT ARE THE ADVANT, S
» Longer shelf life
7 Increased availability to farm produce

» Improved &Iabily’oﬂne product throughout the year.
ADVANTAGES

» Food processing in Indian economic context is considered as a sunrise industry.

It serves as a crucial link between Agriculture and Industry.
» The growth of this sector helps in the growth of :
« Agriculture sector through backward linkages
« To the industry sector of which it is itself an important constituent
« To the overall GDP growth,
POTENTIAL
» India's share in export of processed food in global trade is only 1.5 %; whereas the size of the

< P P o) 233/4651

#UPSC #1AS #CivilServices
Mentorship Program for IAS - Economy for Mains - Lecture 7
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5. Explain the meaning of investment in an economy in terms of capital formation.
Discuss the factors to be considered while designing a concessi on agreement between a

public entity and a private entity. (Answer in 250 words) 15 Marks.

Importance of Saving d Investment 6 Capital Formation hypothesis.

Discussed extensively in our Eco-Survey Lecture:

growth rate of more than 7 per cent until
1980s.

Av i"r:z(m cycle of saviiigs, investitent,
exporis and growth with investment as
the “central driver™

1.15 The overwhelming evidence across the
globe, especially from China and East Asia
in recent times, is that high growth rates have
only been sustained by a growth model driven
by a virtuous cycle of savings. mvestment
favourable demographic phase_As we explain
m detail below, mvestment, especially private
mvestment, is the “key dniver” that dnives
“Jemand, creates capacity, mereases labour
productivity, introduces new ftechnology
allows creative destruction, and generates
jobs

following the Global Financial Crisis, we
view the economy as being in a constant state

of disequilibrium as capturedBy a virtuous or

a vicious cycle.

1.19 Second, the traditional viey” often

solve job _creation/ demang

attempts Z )
exp and_economic_growth as_separate

problems. In contrast, as we show below
these macro-e 2 9 exhibit
significant herefore.
understanding the—key-derver- and enhancing

ables sunultancous growth

e Thine
cach of the other macro phenomena

120 When viewed in this manner, the
key

that catalyses the economy into a virtuous

IrIggenng  macro-economic dnver”

cycle becomes critical. This Survey makes

the case for investment as the “key dnver”

4

n_¢ a_self-sustaining virtuous
oy 0 India, This mvestment can be both

e

onal S
S the
ibrium-
the

116 We depart from
by outlinng a growth model that v
economy as bemng m constant

HUPS vilServices

#C
Eco-Survey - Chapter 1, Volume 1

Also, extensively taken up asa Complete lecture in PcM:
Varlous ldeas and P vesonl Model

Idea of JM Keynes:

- Saving and investment are not usually done by the same persons.

- The desire to save does not necessarily generate investment.

- If savers attempt to save a larger share of their income than before (thereby
consuming less) and if this is not matched by an equal increase in the desire of
others to invest, total spending will decline.

- A natural reaction on the part of business will be to cut back on production,
thereby reducing incomes earned in production.

- The final effect may be a cumulative movement downward as total demand
becomes insufficient to employ all of the labour force.

This situation had not been the case historically for developed economies until the early
1970s.

Idea of Joseph A. Schumpeter:

Unlike most Keynesian or pre-Keynesian theorists, Schumpeter laid primary stress on
the role of the entrepreneur, or businessman.

It was the quality of his performance that determined whether capital would grow
rapidlv or slowlv and whether this growth would involve innovation and change—i.e..

Harrod-Domar Model of In :

In this model of growth, the rate of growth of supply is equal to the rate of growth of
capital stock. Through investment this capital stock is augmented.

The rate of growth of demand depends upon the rate of growth of investment or, more
correctly, upon the rate of growth of non-consumption expenditures.

Thus, investment affects both demand and supply.

There are many good reasons for which most of the planning models that exist today are
based on the Harrod-Domar model.

For most developing economies, which are usually capital-constrained, the supply-side

iccnia nf rraatino adanniata nradiictiva canacitu ic af daminatino Francarn

Q. “While India used to be the shining star of PPP (Public-Private Partnership) projects,
it is now a case study of how not to manage PPP”. Discuss.
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6. Explain the rationale behind the Goods and Services Tax (Compensation to States) Act
of 2017. How has COVID 0 19 impacted the GST compensation fund and created new

federal tensions? (Answer in 250 words) 15 Marks.

Discussed asthe Central government has set up a special borrowing window for the states
and union territories who choose Option -1 to borrow the amount of shortfall arising out of

GST implementation.

We discussed this extensively alongwith the implications in

Economy PreCure 0 10" December, 2020

op

This corpus in turn is funded through a ﬂpﬂgﬁgﬁ@ﬂ]at is

levied on so-called ‘demerit’ — S

The computation of the shortfall — is spelt out in Section 7 of the GST
(Compensation to States) Act, 2017 — is done annually by projecting a
revenue assumption based on 14% compounded growth from the base
year’s (2015-2016) revenue and calculating the difference between
that figure and the actual GST collections in that year.

For the 2020-21 fiscal year, the revenue shortfall has been anticipated
at T3 lakh crore, with the Compensation Fund expected to have only
about 365,000 crore through cess accruals and balance to pay the
compensation to the States.
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#UPSC #IAS #CivilServices

PreCure Economy - Economy Current Affairs - 10th December 2020 || UPSC
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7. What are the major factors responsible for making rice -wheat system a success? In spite
of this success how has this system become bane in India. (Answer in 250 words) 15

Marks.

First part r equires innovation.

For example, you can alternatively thin k why we don @ see excess of Pulses (for example)
in the market like we see Rice and Wheat.

The very first question in Economy: Mains Question series discusses this.

Way out
Arvind Subramaniam Committee

States to delist pulses from APMC
MSPS to be increased
Remove Export ban
Differentiate b/w(stockists & Hoarders
Develop infra & capacity to produce pulses (like

wheat, rice)
Review future trading
Considers GM seeds for higher yields
Pulses to be part of e- NAM

Growing pulses gives green fodder + green residues
- Increased Fertility of soil + Decreased Pollution

< P Pl o) 955/11:00 - 4 & = El_[]

#UPSC #IAS #CivilServices

Economy for Mains - Pulses (Very Analytical)

ISSUES OF PADDY RESIDUE BURNING"

The Ministry of Power decided that the States of Haryana and Punjab shall issue bids for all coal
based Thermal Power Plants to use

minimum 5 percent of biomass pellets and upto 10 percent to be co-fired with coal.

Power generation through co-firing in pulverized coal fired boilers.
All coal based thermal power plants (except those having ball and tube mill)
public or private
shall endeavor to use 5-10% blend of biomass pellets

made, primarily of agro residue along with coal after assessing the technical feasibility viz. safety
aspects etc.
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8. Suggest measures to improve water storage and irrigation system to make its judicious
use under depleting scenario. (Answer in 250 words) 15 Marks.

Start with some data on irrigation.

Given in Eco-Survey Chpater on Agriculture.

Then move on with th e issues.

And schemes to address them (covered in PcM-Economy and PcM-Agriculture)
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